BID NO.: 19-13 Bid Opens: 4/17/20198 2:00p.m. Sheet 1 of 4A

| | | | | JRB Pipeline Services, LLC | | DFW Services, LLC | | Aushill Constructi | on, LLC | | |
|-----|---|------|--------------|-------------------------------|--------------|-------------------|--------------|-----------------------|--------------|-------------|-------------|
| tem | Description | Unit | Bid Qty | Unit Price | Total | Unit Price | Total | Unit Price | Total | Unit Price | • |
| | DANNY LN WATER MAIN REPLACEMENT | | | | | | | | • | | |
| 1 | SAWCUT FULL DEPTH, REMOVE AND DISPOSE EXISTING CONCRETE & ASPHALT PAVEMENT | SY | 850 | \$12.00 | \$10,200.00 | \$4.00 | \$3,400.00 | \$12.00 | \$10,200.00 | \$5.00 | \$4,250.00 |
| 2 | REMOVE AND SALVAGE EXISTING FIRE HYDRANT | EA | 1 | 425.00 | \$425.00 | 7.00 | \$7.00 | 400.00 | \$400.00 | 250.00 | \$250.00 |
| 3 | ABANDON EXIST. 8" WATER VALVE | EA | 3 | 250.00 | \$750.00 | 450.00 | \$1,350.00 | 140.00 | \$420.00 | 250.00 | \$750.00 |
| 4 | CUT & PLUG EXIST. WATERLINE | EA | 2 | 889.00 | \$1,778.00 | 500.00 | \$1,000.00 | 525.00 | \$1,050.00 | 1,000.00 | \$2,000.00 |
| 5 | FURNISH & INSTALL 8" C-900 PVC WATER LINE BY OPEN CUT INCLUDING CONNECTIONS, FITTINGS, EMBEDMENT, BACKFILL, AND WATER LINE LOWERING AT THE STORM SEWERS | LF | 1,230 | 40.00 | \$49,200.00 | 46.00 | \$56,580.00 | 38.00 | \$46,740.00 | 50.00 | \$61,500.00 |
| 6 | CONNECTIONS TO EXIST. 6" C.I. WATERMAIN INCLUDING 8"X6" CUT-IN TEE AND OTHER FITTINGS AT FORD RD. | LS | 1 | \$1,875.00 | \$1,875.00 | \$2,400.00 | \$2,400.00 | \$2,400.00 | \$2,400.00 | \$2,000.00 | \$2,000.00 |
| 7 | CONNECTIONS TO EXIST. 8" WATERMAIN INCLUDING , 8"X8" CUT-IN TEE AND OTHER FITTINGS AT TOM FIELD RD. | LS | 1 | \$1,832.00 | \$1,832.00 | \$2,400.00 | \$2,400.00 | \$2,500.00 | \$2,500.00 | \$2,000.00 | \$2,000.00 |
| 8 | FURNISH & INSTALL 8" GATE VALVE | EA | 7 | \$1,261.00 | \$8,827.00 | \$1,250.00 | \$8,750.00 | \$1,600.00 | \$11,200.00 | \$1,500.00 | \$10,500.00 |
| 9 | FURNISH & INSTALL 6" C-900 PVC FIRE HYDRANT LEAD INCLUDING CONNECTIONS, | LF | 40 | \$48.50 | \$1,940.00 | \$50.00 | \$2,000.00 | \$38.00 | \$1,520.00 | \$50.00 | \$2,000.00 |
| 10 | FURNISH & INSTALL 6" GATE VALVE | EA | 5 | \$933.00 | \$4,665.00 | \$900.00 | \$4,500.00 | \$1,100.00 | \$5,500.00 | \$1,200.00 | \$6,000.00 |
| 11 | FURNISH & INSTALL 1" TYPE 'K' COPPER WATER SERVICE (LONG) AND CONNECT TO EXIST | EA | 15 | \$909.00 | \$13,635.00 | \$950.00 | \$14,250.00 | \$1,250.00 | \$18,750.00 | \$1,100.00 | \$16,500.00 |
| 12 | FURNISH & INSTALL 1" TYPE 'K' COPPER WATER SERVICE (SHORT) AND CONNECT TO EXIST 3/4" AMR METER AND METER BOX | EA | 15 | \$749.00 | \$11,235.00 | \$885.00 | \$13,275.00 | \$900.00 | \$13,500.00 | \$900.00 | \$13,500.00 |
| 13 | FURNISH & INSTALL NEW FIRE HYDRANT | EA | 4 | \$3,691.00 | \$14,764.00 | \$3,700.00 | \$14,800.00 | \$2,900.00 | \$11,600.00 | \$3,000.00 | \$12,000.00 |
| 14 | TRAFFIC CONTROL PLAN & IMPLEMENTATION | LS | 1 | \$1,200.00 | \$1,200.00 | \$1,700.00 | \$1,700.00 | \$1,100.00 | \$1,100.00 | \$2,500.00 | \$2,500.00 |
| 15 | TRENCH SAFETY DESIGN & IMPLEMENTATION | LF | 1,230 | \$1.00 | \$1,230.00 | \$1.50 | \$1,845.00 | \$1.00 | \$1,230.00 | \$1.00 | \$1,230.00 |
| 16 | EROSION CONTROL PLANS & IMPLEMENTATION | LS | 1 | \$800.00 | \$800.00 | \$1,700.00 | \$1,700.00 | \$1,000.00 | \$1,000.00 | \$2,500.00 | \$2,500.00 |
| 17 | FURNISH & INSTALL SOLID SOD INCLUDING 2" TOP SOIL | SY | 380 | \$12.50 | \$4,750.00 | \$9.50 | \$3,610.00 | \$14.00 | \$5,320.00 | \$12.00 | \$4,560.00 |
| 18 | FURNISH & INSTALL 12" CEMENT TREATED BASE PER DETAILS | SY | 850 | \$28.00 | \$23,800.00 | \$27.00 | \$22,950.00 | \$52.50 | \$44,625.00 | \$40.00 | \$34,000.00 |
| 19 | UNFORSEEN ITEMS FOR WATER REPLACEMENT, AS APPROVED BY THE CITY ENGINEER (REFER TO SPECIAL CONDITIONS ITEM #48) | LS | 1 | \$15,000.00 | \$15,000.00 | \$15,000.00 | \$15,000.00 | \$15,000.00 | \$15,000.00 | \$15,000.00 | \$15,000.00 |
| | DANNY LN WATER MAIN REPLACEMENT TOTAL: | | \$167,906.00 | *1 | \$171,517.00 | | \$194,055.00 | | \$193,040.00 | | |

^{*1} Submitted bid is \$693 higher due to bidder's math error.

BID NO.: 19-13 Bid Opens: 4/17/2019, 2:00p.m.

Sheet 2 of 4A

| | | | | | | JRB Pipelin | e Services, | DFW Services, LLC | | Aushill | |
|------|---|------|-------------|-----------------|--------------|-------------|--------------|-------------------|--------------|--------------|-------------|
| | | | | Utilities, Inc. | | LLC | | | | Construction | |
| ltem | Description EPPS FIELD WATER MAIN REPLACEMENT | Unit | Bid Qty | Unit Price | Total | Unit Price | Total | Unit Price | Total | Unit Price | Total |
| | | | | | | | | | | | |
| 1 | SAWCUT FULL DEPTH, REMOVE AND DISPOSE EXISTING CONCRETE & ASPHALT PAVEMEN | SY | 480 | \$12.00 | \$5,760.00 | \$4.00 | \$1,920.00 | \$12.00 | \$5,760.00 | \$5.00 | \$2,400.00 |
| 2 | REMOVE AND SALVAGE EXISTING FIRE HYDRANT | EA | 1 | 425.00 | \$425.00 | 700.00 | \$700.00 | 400.00 | \$400.00 | 250.00 | \$250.00 |
| 3 | ABANDON EXIST. 6" WATER VALVE | EA | 3 | 250.00 | \$750.00 | 450.00 | \$1,350.00 | 140.00 | \$420.00 | 250.00 | \$750.00 |
| 4 | ABANDON EXIST. 8" WATER VALVE | EA | 1 | 250.00 | \$250.00 | 450.00 | \$450.00 | 140.00 | \$140.00 | 250.00 | \$250.00 |
| 5 | CUT & PLUG EXIST. WATERLINE | EA | 2 | 914.00 | \$1,828.00 | 800.00 | \$1,600.00 | 525.00 | \$1,050.00 | 1,000.00 | \$2,000.00 |
| 6 | FURNISH & INSTALL 8" C-900 PVC WATER LINE BY OPEN CUT INCLUDING CONNECTIONS, FITTINGS, EMBEDMENT, BACKFILL, AND WATER LINE LOWERING AT THE STORM SEWERS | LF | 760 | \$40.00 | \$30,400.00 | \$46.00 | \$34,960.00 | \$38.00 | \$28,880.00 | \$50.00 | \$38,000.00 |
| 7 | CONNECTIONS TO EXIST. 8" WATERMAIN INCLUDING BENDS AND OTHER FITTINGS AT MARIETTA DR. | LS | 1 | \$1,890.00 | \$1,890.00 | \$3,500.00 | \$3,500.00 | \$3,000.00 | \$3,000.00 | \$3,000.00 | \$3,000.00 |
| 8 | CONNECTIONS TO EXIST. 4" WATERMAIN INCLUDING BENDS AND OTHER FITTINGS AT 12724 EPPS FIELD RD. | LS | 1 | \$1,248.00 | \$1,248.00 | \$3,000.00 | \$3,000.00 | \$2,400.00 | \$2,400.00 | \$2,500.00 | \$2,500.00 |
| 9 | FURNISH & INSTALL 8" GATE VALVE | EA | 5 | \$1,241.00 | \$6,205.00 | \$1,250.00 | \$6,250.00 | \$1,600.00 | \$8,000.00 | \$1,500.00 | \$7,500.00 |
| 10 | FURNISH & INSTALL 6" C-900 PVC FIRE HYDRANT LEAD INCLUDING CONNECTIONS | LF | 10 | \$48.50 | \$485.00 | \$50.00 | \$500.00 | \$38.00 | \$380.00 | \$50.00 | \$500.00 |
| 11 | FURNISH & INSTALL 6" GATE VALVE | EA | 1 | \$927.00 | \$927.00 | \$900.00 | \$900.00 | \$1,100.00 | \$1,100.00 | \$1,200.00 | \$1,200.00 |
| 12 | FURNISH & INSTALL 1" TYPE 'K' COPPER WATER SERVICE (LONG) AND CONNECT TO EXIST 3/4" AMR METER AND METER BOX | EA | 9 | \$944.00 | \$8,496.00 | \$950.00 | \$8,550.00 | \$1,250.00 | \$11,250.00 | \$1,100.00 | \$9,900.00 |
| 13 | FURNISH & INSTALL 1" TYPE 'K' COPPER WATER SERVICE (SHORT) AND CONNECT TO EXIST 3/4" AMR METER AND METER BOX | EA | 4 | \$820.00 | \$3,280.00 | \$900.00 | \$3,600.00 | \$900.00 | \$3,600.00 | \$900.00 | \$3,600.00 |
| 14 | FURNISH & INSTALL NEW FIRE HYDRANT | EA | 1 | \$3,678.00 | \$3,678.00 | \$3,700.00 | \$3,700.00 | \$2,900.00 | \$2,900.00 | \$3,000.00 | \$3,000.00 |
| 15 | TRAFFIC CONTROL PLAN & IMPLEMENTATION (WATER) | LS | 1 | \$1,500.00 | \$1,500.00 | \$1,700.00 | \$1,700.00 | \$800.00 | \$800.00 | \$2,500.00 | \$2,500.00 |
| 16 | TRENCH SAFETY DESIGN & IMPLEMENTATION | LF | 760 | \$1.00 | \$760.00 | \$1.50 | \$1,140.00 | \$1.00 | \$760.00 | \$1.00 | \$760.00 |
| 17 | EROSION CONTROL PLANS & IMPLEMENTATION | LS | 1 | \$800.00 | \$800.00 | \$1,700.00 | \$1,700.00 | \$1,600.00 | \$1,600.00 | \$2,500.00 | \$2,500.00 |
| 18 | FURNISH & INSTALL SOLID SOD INCLUDING 2" TOP SOIL | SY | 160 | \$12.50 | \$2,000.00 | \$9.50 | \$1,520.00 | \$14.00 | \$2,240.00 | \$12.00 | \$1,920.00 |
| 19 | FURNISH & INSTALL 12" CEMENT TREATED BASE PER DETAILS | SY | 480 | \$28.00 | \$13,440.00 | \$27.00 | \$12,960.00 | \$52.50 | \$25,200.00 | \$40.00 | \$19,200.00 |
| 20 | UNFORSEEN ITEMS FOR WATER REPLACEMENT, AS APPROVED BY THE CITY ENGINEER (REFER TO SPECIAL CONDITIONS ITEM #48) | LS | 1 | \$10,000.00 | \$10,000.00 | \$10,000.00 | \$10,000.00 | \$10,000.00 | \$10,000.00 | \$10,000.00 | \$10,000.00 |
| | EPPS WATER MAIN REPLACEMENT TOTAL: | | \$94,122.00 | | \$100,000.00 | | \$109,880.00 | | \$111,730.00 | | |

BID NO.: 19-13

Bid Opens: 4/17/20198 2:00p.m.

Sheet 3 of 4A

| | | | | | ruction and | orta i ipolilio doi viddo, | | DFW Services, LLC | | Aushill | | |
|------|---|------|----------------|----------------|--------------|----------------------------|--------------|-------------------|--------------|-------------------|-------------|--|
| | | | | Utilities, Inc | | LLC | | | | Constructi | on, LLC | |
| Item | | Unit | Bid Qty | Unit Price | Total | Unit Price | Total | Unit Price | Total | Unit Price | Total | |
| | EPPS FIELD RD SEWER MAIN REPLACEMENT | | | | | | | | | | | |
| 1 | SAWCUT FULL DEPTH, REMOVE AND DISPOSE EXISTING CONCRETE & ASPHALT PAVEMENT | SY | 765 | \$12.00 | \$9,180.00 | \$4.00 | \$3,060.00 | \$12.00 | \$9,180.00 | \$5.00 | \$3,825.00 | |
| 2 | REMOVE AND DISPOSE EX. SANITARY SEWER MANHOLES | EA | 4 | 1,200.00 | \$4,800.00 | 2,100.00 | \$8,400.00 | 500.00 | \$2,000.00 | 500.00 | \$2,000.00 | |
| 3 | ABANDONED EX. SANITARY SEWER MANHOLES | EA | 2 | 775.00 | \$1,550.00 | 1,500.00 | \$3,000.00 | 1,000.00 | \$2,000.00 | 500.00 | \$1,000.00 | |
| 4 | CUT & PLUG EXIST. 8" SEWER MAIN | EA | 9 | 739.00 | \$6,651.00 | 600.00 | \$5,400.00 | 500.00 | \$4,500.00 | 500.00 | \$4,500.00 | |
| 5 | REMOVE AND DISPOSE OF EX. 8" CLAY SANITARY SEWER PIPE | LF | 410 | 18.00 | \$7,380.00 | 15.00 | \$6,150.00 | 5.00 | \$2,050.00 | 20.00 | \$8,200.00 | |
| 6 | FURNISH & INSTALL 8" PVC SDR-26 SANITARY SEWER MAIN BY OPEN CUT, INCLUDING ALL CONNECTIONS, FITTINGS, EMBEDMENTS & BACKFILL | LF | 1,200 | \$49.55 | \$59,460.00 | \$55.00 | \$66,000.00 | \$38.00 | \$45,600.00 | \$55.00 | \$66,000.00 | |
| 7 | 4" SCHEDULE 40 SERVICE LINE W/ CLEANOUT BY OPEN CUT | EA | 22 | \$913.00 | \$20,086.00 | \$1,400.00 | \$30,800.00 | \$1,100.00 | \$24,200.00 | \$800.00 | \$17,600.00 | |
| 8 | 4.0' DIAMETER SANITARY SEWER MANHOLE | EA | 7 | \$4,309.00 | \$30,163.00 | \$4,500.00 | \$31,500.00 | \$3,500.00 | \$24,500.00 | \$4,500.00 | \$31,500.00 | |
| 9 | TURF ESTABLISHMENT-SOLID SOD, INCLUDING 2" TOPSOIL | SY | 400 | \$12.50 | \$5,000.00 | \$9.50 | \$3,800.00 | \$14.00 | \$5,600.00 | \$12.00 | \$4,800.00 | |
| 10 | TRAFFIC CONTROL PLAN & IMPLEMENTAION | LS | 1 | \$1,200.00 | \$1,200.00 | \$1,700.00 | \$1,700.00 | \$1,200.00 | \$1,200.00 | \$2,500.00 | \$2,500.00 | |
| 11 | EROSION CONTROL PLAN & IMPLEMENTAION | LS | 1 | \$800.00 | \$800.00 | \$1,700.00 | \$1,700.00 | \$1,000.00 | \$1,000.00 | \$2,500.00 | \$2,500.00 | |
| 12 | TRENCH SAFETY DESIGN & IMPLEMENTATION | LF | 1,200 | \$1.00 | \$1,200.00 | \$2.00 | \$2,400.00 | \$2.50 | \$3,000.00 | \$1.00 | \$1,200.00 | |
| 13 | FURNISH & INSTALL 12" CEMENT TREATED BASE PER DETAILS | SY | 765 | \$28.00 | \$21,420.00 | \$27.00 | \$20,655.00 | \$52.50 | \$40,162.50 | \$40.00 | \$30,600.00 | |
| 14 | UNFORSEEN ITEMS FOR SEWER REPLACEMENT, AS APPROVED BY THE CITY ENGINEER (REFER TO SPECIAL CONDITIONS ITEM #48) | LS | 1 | \$10,000.00 | \$10,000.00 | \$10,000.00 | \$10,000.00 | \$10,000.00 | \$10,000.00 | \$10,000.00 | \$10,000.00 | |
| | EPPS FIELD RD SEWER MAIN REPLACEMENT TOTAL: | | | \$178,890.00 | | \$194,565.00 | | \$174,992.50 | *2 | \$186,225.00 | | |
| | EPPS FIELD RD WATER & SEWER MAIN REPLACEMENT GRAND-TOTAL: | | \$273.012.00 | | \$294.565.00 | | \$284.872.50 | | \$297.955.00 | | | |

^{*2-}Submitted bid is \$5000 higher due to bidder's math error

BID NO.: 19-13

Bid Opens: 4/17/20198 2:00p.m.

Sheet 4 of 4A

| | | | | | | JRB Pipel LLC | ine Services, | DFW Services, LLC | | Aushill Construction, LLC | |
|------|---|------|--------------|-----------------------------|--------------|------------------|---------------|-------------------|--------------|------------------------------|--------------|
| ltem | Description | Hnit | Did Oty | Utilities, In Unit Price | | Unit Price | Total | Unit Price | Total | Unit Price | Total |
| iten | LETA MAE LN WATER MAIN REPLACEMENT | Unit | ый Сіў | Unit Frice | i Otai | Unit Price | TOLAI | Onit Frice | Total | Unit Price | TOTAL |
| 1 | SAWCUT FULL DEPTH, REMOVE AND DISPOSE EXISTING CONCRETE & ASPHALT PAVEMENT | SY | 840 | \$12.00 | \$10,080.00 | \$4.00 | \$3,360.00 | \$12.00 | \$10,080.00 | \$5.00 | \$4,200.00 |
| 2 | REMOVE AND SALVAGE EXISTING FIRE HYDRANT | EA | 1 | 425.00 | \$425.00 | 700.00 | \$700.00 | 400.00 | \$400.00 | 250.00 | \$250.00 |
| 3 | ABANDON EXIST. 6" F.H. VALVE | EA | 4 | 250.00 | \$1,000.00 | 450.00 | \$1,800.00 | 140.00 | \$560.00 | 250.00 | \$1,000.00 |
| 4 | CUT & PLUG EXIST. WATERLINE | EA | 4 | 889.00 | \$3,556.00 | 750.00 | \$3,000.00 | 525.00 | \$2,100.00 | 1,000.00 | \$4,000.00 |
| 5 | FURNISH & INSTALL 8" C-900 PVC WATER LINE BY OPEN CUT INCLUDING CONNECTIONS, FITTINGS, EMBEDMENT, BACKFILL, AND WATER LINE LOWERING AT THE STORM SEWERS | LF | 1,240 | 40.00 | \$49,600.00 | 46.00 | \$57,040.00 | 38.00 | \$47,120.00 | 50.00 | \$62,000.00 |
| 6 | CONNECTIONS TO EXIST. 6" WATERMAIN INCLUDING , 1-8"X8" TEE, REDUCER,CAP AND OTHER FITTINGS AT FORD RD. | LS | 1 | \$1,903.00 | \$1,903.00 | \$3,000.00 | \$3,000.00 | \$3,000.00 | \$3,000.00 | \$2,000.00 | \$2,000.00 |
| 7 | CONNECTIONS TO EXIST. 8" WATERMAIN INCLUDING , 1-8"X8" TEE, REDUCER,CAP AND OTHER FITTINGS AT TOM FIELD RD. | LS | 1 | \$2,134.00 | \$2,134.00 | \$3,000.00 | \$3,000.00 | \$3,000.00 | \$3,000.00 | \$2,000.00 | \$2,000.00 |
| 8 | FURNISH & INSTALL 8" GATE VALVE | EA | 9 | \$1,278.00 | \$11,502.00 | \$1,250.00 | \$11,250.00 | \$1,600.00 | \$14,400.00 | \$1,500.00 | \$13,500.00 |
| 9 | FURNISH & INSTALL 6" C-900 PVC FIRE HYDRANT LEAD INCLUDING CONNECTIONS | LF | 24 | \$48.50 | \$1,164.00 | \$50.00 | \$1,200.00 | \$38.00 | \$912.00 | \$75.00 | \$1,800.00 |
| 10 | FURNISH & INSTALL 6" GATE VALVE | EA | 4 | \$927.00 | \$3,708.00 | \$900.00 | \$3,600.00 | \$1,100.00 | \$4,400.00 | \$1,200.00 | \$4,800.00 |
| 11 | FURNISH & INSTALL 1" TYPE 'K' COPPER WATER SERVICE (LONG) AND CONNECT TO EXIST 3/4" AMR METER AND METER BOX | EA | 16 | \$901.00 | \$14,416.00 | \$950.00 | \$15,200.00 | \$1,250.00 | \$20,000.00 | \$1,100.00 | \$17,600.00 |
| 12 | FURNISH & INSTALL 1" TYPE 'K' COPPER WATER SERVICE (SHORT) AND CONNECT TO EXIS | EA | 18 | \$738.00 | \$13,284.00 | \$900.00 | \$16,200.00 | \$900.00 | \$16,200.00 | \$900.00 | \$16,200.00 |
| 13 | FURNISH & INSTALL NEW FIRE HYDRANT | EA | 4 | \$3,665.00 | \$14,660.00 | \$3,700.00 | \$14,800.00 | \$2,900.00 | \$11,600.00 | \$3,000.00 | \$12,000.00 |
| 14 | TRAFFIC CONTROL PLAN & IMPLEMENTATION (WATER) | LS | 1 | \$1,500.00 | \$1,500.00 | \$1,700.00 | \$1,700.00 | \$1,200.00 | \$1,200.00 | \$2,500.00 | \$2,500.00 |
| 15 | TRENCH SAFETY DESIGN & IMPLEMENTATION | LF | 1 | \$1.00 | \$1.00 | \$1.50 | \$1.50 | \$2.00 | \$2.00 | \$1.00 | \$1.00 |
| 16 | EROSION CONTROL PLANS & IMPLEMENTATION | LS | 1 | \$800.00 | \$800.00 | \$1,700.00 | \$1,700.00 | \$600.00 | \$600.00 | \$2,500.00 | \$2,500.00 |
| 17 | FURNISH & INSTALL SOLID SOD INCLUDING 2" TOP SOIL | SY | 400 | \$12.50 | \$5,000.00 | \$9.50 | \$3,800.00 | \$14.00 | \$5,600.00 | \$12.00 | \$4,800.00 |
| 18 | FURNISH & INSTALL 12" CEMENT TREATED BASE PER DETAILS | SY | 840 | \$28.00 | \$23,520.00 | \$27.00 | \$22,680.00 | \$52.50 | \$44,100.00 | \$40.00 | \$33,600.00 |
| 19 | UNFORSEEN ITEMS FOR WATER REPLACEMENT, AS APPROVED BY THE CITY ENGINEER (REFER TO SPECIAL CONDITIONS ITEM #48) | LS | 1 | \$15,000.00 | \$15,000.00 | \$15,000.00 | \$15,000.00 | \$15,000.00 | \$15,000.00 | \$15,000.00 | \$15,000.00 |
| | LETA MAE LN WATER MAIN REPLACEMENT TOTAL: | | | | \$173,253.00 | | \$179,031.50 | | \$200,274.00 | | \$199,751.00 |
| | GRAND-TOTAL AMOUNT BASE-BID FOR DANNY WATER, EPPS FIELD WATER & SEWER, & LETA MAE WATER: | | \$614,171.00 | *1 | \$645,113.50 | | \$679,201.50 | *2 | \$690,746.00 | | |

^{*1} Submitted bid is \$693 higher due to bidder's math error.

^{*2} Submitted bid is \$5000 higher due to bidder's math error

BID NO.: 19-13 Bid Opens: 4/17/20198 2:00p.m. Sheet 1 of 4B

| | | | | | | | | Camino | | Atkins | |
|------|---|------|----------------|-------------|--------------|-------------|--------------|-------------------|--------------|-------------------|-------------|
| | | | | Co., Inc. | | | | Construction, LP | | Bros. | |
| ltem | | Unit | Bid Qty | Unit Price | Total | Unit Price | Total | Unit Price | Total | Unit Price | Total |
| | DANNY LN WATER MAIN REPLACEMENT | | | | | | | | | | |
| 1 | SAWCUT FULL DEPTH, REMOVE AND DISPOSE EXISTING CONCRETE & ASPHALT PAVEMENT | SY | 850 | \$9.00 | \$7,650.00 | \$8.00 | \$6,800.00 | \$10.00 | \$8,500.00 | \$20.00 | \$17,000.00 |
| 2 | REMOVE AND SALVAGE EXISTING FIRE HYDRANT | EA | 1 | 250.00 | \$250.00 | 1,000.00 | \$1,000.00 | 250.00 | \$250.00 | 300.00 | \$300.00 |
| 3 | ABANDON EXIST. 8" WATER VALVE | EA | 3 | 100.00 | \$300.00 | 500.00 | \$1,500.00 | 150.00 | \$450.00 | 100.00 | \$300.00 |
| 4 | CUT & PLUG EXIST. WATERLINE | EA | 2 | 750.00 | \$1,500.00 | 1,000.00 | \$2,000.00 | 750.00 | \$1,500.00 | 2,000.00 | \$4,000.00 |
| 5 | FURNISH & INSTALL 8" C-900 PVC WATER LINE BY OPEN CUT INCLUDING CONNECTIONS, FITTINGS, EMBEDMENT, BACKFILL, AND WATER LINE LOWERING AT THE STORM SEWERS | LF | 1,230 | 52.00 | \$63,960.00 | 82.00 | \$100,860.00 | 61.00 | \$75,030.00 | 75.00 | \$92,250.00 |
| 6 | CONNECTIONS TO EXIST. 6" C.I. WATERMAIN INCLUDING 8"X6" CUT-IN TEE AND OTHER FITTINGS AT FORD RD. | LS | 1 | \$5,200.00 | \$5,200.00 | \$5,000.00 | \$5,000.00 | \$5,000.00 | \$5,000.00 | \$4,000.00 | \$4,000.00 |
| 7 | CONNECTIONS TO EXIST. 8" WATERMAIN INCLUDING, 8"X8" CUT-IN TEE AND OTHER FITTINGS AT TOM FIELD RD. | LS | 1 | \$4,800.00 | \$4,800.00 | \$6,000.00 | \$6,000.00 | \$4,000.00 | \$4,000.00 | \$4,000.00 | \$4,000.00 |
| 8 | FURNISH & INSTALL 8" GATE VALVE | EA | 7 | \$1,350.00 | \$9,450.00 | \$1,600.00 | \$11,200.00 | \$1,700.00 | \$11,900.00 | \$1,500.00 | \$10,500.00 |
| 9 | FURNISH & INSTALL 6" C-900 PVC FIRE HYDRANT LEAD INCLUDING CONNECTIONS, | LF | 40 | \$52.00 | \$2,080.00 | \$50.00 | \$2,000.00 | \$100.00 | \$4,000.00 | \$170.00 | \$6,800.00 |
| 10 | FURNISH & INSTALL 6" GATE VALVE | EA | 5 | \$925.00 | \$4,625.00 | \$1,400.00 | \$7,000.00 | \$1,300.00 | \$6,500.00 | \$900.00 | \$4,500.00 |
| 11 | FURNISH & INSTALL 1" TYPE 'K' COPPER WATER SERVICE (LONG) AND CONNECT TO EXIST | EA | 15 | \$1,025.00 | \$15,375.00 | \$1,400.00 | \$21,000.00 | \$1,200.00 | \$18,000.00 | \$900.00 | \$13,500.00 |
| 12 | FURNISH & INSTALL 1" TYPE 'K' COPPER WATER SERVICE (SHORT) AND CONNECT TO EXIST 3/4" AMR METER AND METER BOX | EA | 15 | \$750.00 | \$11,250.00 | \$800.00 | \$12,000.00 | \$900.00 | \$13,500.00 | \$700.00 | \$10,500.00 |
| 13 | FURNISH & INSTALL NEW FIRE HYDRANT | EA | 4 | \$2,850.00 | \$11,400.00 | \$4,500.00 | \$18,000.00 | \$3,200.00 | \$12,800.00 | \$4,000.00 | \$16,000.00 |
| 14 | TRAFFIC CONTROL PLAN & IMPLEMENTATION | LS | 1 | \$2,000.00 | \$2,000.00 | \$4,000.00 | \$4,000.00 | \$3,500.00 | \$3,500.00 | \$7,000.00 | \$7,000.00 |
| 15 | TRENCH SAFETY DESIGN & IMPLEMENTATION | LF | 1,230 | \$0.10 | \$123.00 | \$1.00 | \$1,230.00 | \$1.00 | \$1,230.00 | \$1.00 | \$1,230.00 |
| 16 | EROSION CONTROL PLANS & IMPLEMENTATION | LS | 1 | \$1,850.00 | \$1,850.00 | \$2,000.00 | \$2,000.00 | \$2,216.00 | \$2,216.00 | \$3,000.00 | \$3,000.00 |
| 17 | FURNISH & INSTALL SOLID SOD INCLUDING 2" TOP SOIL | SY | 380 | \$8.00 | \$3,040.00 | \$5.00 | \$1,900.00 | \$12.00 | \$4,560.00 | \$15.00 | \$5,700.00 |
| 18 | FURNISH & INSTALL 12" CEMENT TREATED BASE PER DETAILS | SY | 850 | \$42.00 | \$35,700.00 | \$20.00 | \$17,000.00 | \$52.00 | \$44,200.00 | \$27.00 | \$22,950.00 |
| 19 | UNFORSEEN ITEMS FOR WATER REPLACEMENT, AS APPROVED BY THE CITY ENGINEER (REFER TO SPECIAL CONDITIONS ITEM #48) | LS | 1 | \$15,000.00 | \$15,000.00 | \$15,000.00 | \$15,000.00 | \$15,000.00 | \$15,000.00 | \$15,000.00 | \$15,000.00 |
| | DANNY LN WATER MAIN REPLACEMENT TOTAL: | | \$195,553.00 | | \$235,490.00 | | \$232,136.00 | | \$238,530.00 | | |

BID NO.: 19-13 Bid Opens: 4/17/2019, 2:00p.m.

Sheet 2 of 4B

| | | | | | uction | | | Camino | | Atkins | |
|----------|---|------|--------------|-------------|--------------|-------------|--------------|------------------|--------------|-------------|-------------|
| | | | | Co., Inc. | | | | Construction, LP | | Bros. | |
| ltem | Description | Unit | Bid Qty | Unit Price | Total | Unit Price | Total | Unit Price | Total | Unit Price | Total |
| | EPPS FIELD WATER MAIN REPLACEMENT | | | | | | | | | | |
| 1 | SAWCUT FULL DEPTH, REMOVE AND DISPOSE EXISTING CONCRETE & ASPHALT PAVEMEN | SY | 480 | \$9.00 | \$4,320.00 | \$8.00 | \$3,840.00 | \$10.00 | \$4,800.00 | \$20.00 | \$9,600.00 |
| 2 | REMOVE AND SALVAGE EXISTING FIRE HYDRANT | EA | 1 | 250.00 | \$250.00 | 1,000.00 | \$1,000.00 | 150.00 | \$150.00 | 300.00 | \$300.00 |
| 3 | ABANDON EXIST. 6" WATER VALVE | EA | 3 | 100.00 | \$300.00 | 500.00 | \$1,500.00 | 150.00 | \$450.00 | 100.00 | \$300.00 |
| 4 | ABANDON EXIST. 8" WATER VALVE | EA | 1 | 100.00 | \$100.00 | 500.00 | \$500.00 | 150.00 | \$150.00 | 100.00 | \$100.00 |
| 5 | CUT & PLUG EXIST. WATERLINE | EA | 2 | 350.00 | \$700.00 | 1,000.00 | \$2,000.00 | 750.00 | \$1,500.00 | 2,000.00 | \$4,000.00 |
| 6 | FURNISH & INSTALL 8" C-900 PVC WATER LINE BY OPEN CUT INCLUDING CONNECTIONS, FITTINGS, EMBEDMENT, BACKFILL, AND WATER LINE LOWERING AT THE STORM SEWERS | LF | 760 | \$55.00 | \$41,800.00 | \$88.00 | \$66,880.00 | \$72.00 | \$54,720.00 | \$75.00 | \$57,000.00 |
| 7 | CONNECTIONS TO EXIST. 8" WATERMAIN INCLUDING BENDS AND OTHER FITTINGS AT MARIETTA DR. | LS | 1 | \$4,350.00 | \$4,350.00 | \$6,000.00 | \$6,000.00 | \$4,600.00 | \$4,600.00 | \$4,000.00 | \$4,000.00 |
| 8 | CONNECTIONS TO EXIST. 4" WATERMAIN INCLUDING BENDS AND OTHER FITTINGS AT 12724 EPPS FIELD RD. | LS | 1 | \$2,750.00 | \$2,750.00 | \$4,500.00 | \$4,500.00 | \$4,000.00 | \$4,000.00 | \$3,000.00 | \$3,000.00 |
| 9 | FURNISH & INSTALL 8" GATE VALVE | EA | 5 | \$1,350.00 | \$6,750.00 | \$1,600.00 | \$8,000.00 | \$1,700.00 | \$8,500.00 | \$1,500.00 | \$7,500.00 |
| 10 | FURNISH & INSTALL 6" C-900 PVC FIRE HYDRANT LEAD INCLUDING CONNECTIONS | LF | 10 | \$52.00 | \$520.00 | \$50.00 | \$500.00 | \$100.00 | \$1,000.00 | \$170.00 | \$1,700.00 |
| 11 | FURNISH & INSTALL 6" GATE VALVE | EA | 1 | \$925.00 | \$925.00 | \$1,400.00 | \$1,400.00 | \$1,300.00 | \$1,300.00 | \$900.00 | \$900.00 |
| 12 | FURNISH & INSTALL 1" TYPE 'K' COPPER WATER SERVICE (LONG) AND CONNECT TO EXIST 3/4" AMR METER AND METER BOX | EA | 9 | \$1,100.00 | \$9,900.00 | \$1,400.00 | \$12,600.00 | \$1,200.00 | \$10,800.00 | \$1,500.00 | \$13,500.00 |
| 13 | FURNISH & INSTALL 1" TYPE 'K' COPPER WATER SERVICE (SHORT) AND CONNECT TO EXIST 3/4" AMR METER AND METER BOX | EA | 4 | \$800.00 | \$3,200.00 | \$800.00 | \$3,200.00 | \$900.00 | \$3,600.00 | \$1,000.00 | \$4,000.00 |
| 14 | FURNISH & INSTALL NEW FIRE HYDRANT | EA | 1 | \$2,850.00 | \$2,850.00 | \$4,500.00 | \$4,500.00 | \$3,200.00 | \$3,200.00 | \$4,000.00 | \$4,000.00 |
| 15 | TRAFFIC CONTROL PLAN & IMPLEMENTATION (WATER) | LS | 1 | \$1,000.00 | \$1,000.00 | \$2,000.00 | \$2,000.00 | \$2,500.00 | \$2,500.00 | \$2,000.00 | \$2,000.00 |
| 16 | TRENCH SAFETY DESIGN & IMPLEMENTATION | LF | 760 | \$0.10 | \$76.00 | \$1.00 | \$760.00 | \$1.00 | \$760.00 | \$1.00 | \$760.00 |
| 17 | EROSION CONTROL PLANS & IMPLEMENTATION | LS | 1 | \$1,000.00 | \$1,000.00 | \$1,000.00 | \$1,000.00 | \$3,000.00 | \$3,000.00 | \$2,000.00 | \$2,000.00 |
| 18 | FURNISH & INSTALL SOLID SOD INCLUDING 2" TOP SOIL | SY | 160 | \$8.00 | \$1,280.00 | \$5.00 | \$800.00 | \$12.00 | \$1,920.00 | \$20.00 | \$3,200.00 |
| 19 | FURNISH & INSTALL 12" CEMENT TREATED BASE PER DETAILS | SY | 480 | \$42.00 | \$20,160.00 | \$20.00 | \$9,600.00 | \$52.00 | \$24,960.00 | \$30.00 | \$14,400.00 |
| 20 | UNFORSEEN ITEMS FOR WATER REPLACEMENT, AS APPROVED BY THE CITY ENGINEER (REFER TO SPECIAL CONDITIONS ITEM #48) | LS | 1 | \$10,000.00 | \$10,000.00 | \$10,000.00 | \$10,000.00 | \$10,000.00 | \$10,000.00 | \$10,000.00 | \$10,000.00 |
| <u>'</u> | EPPS WATER MAIN REPLACEMENT TOTAL: | | \$112,231.00 | | \$140,580.00 | | \$141,910.00 | | \$142,260.00 | | |

BID NO.: 19-13

Bid Opens: 4/17/20198 2:00p.m.

Sheet 3 of 4B

| 2 REMOVE AND DISPOSE EX. SANITARY SEWER MANHOLES EA 4 750.00 \$3,000.00 1,000.00 \$4,000.00 \$2,400.00 \$2,000.00 \$8. 3 ABANDONED EX. SANITARY SEWER MANHOLES EA 2 750.00 \$1,500.00 800.00 \$1,600.00 \$2,400.00 \$2,000.00 \$2,000.00 \$3. 4 CUT & PLUG EXIST. 8' SEWER MAIN EA 9 250.00 \$2,250.00 800.00 \$7,200.00 300.00 \$2,700.00 \$00.00 \$4. 5 REMOVE AND DISPOSE OF EX. 8' CLAY SANITARY SEWER PIPE LF 410 1.00 \$410.00 10.00 \$4,100.00 10.00 \$4,100.00 10.00 \$4,100.00 10.00 \$4,100.00 \$1. 6 FURNISH & INSTALL 8' PVC SDR-26 SANITARY SEWER MAIN BY OPEN CUT, INCLUDING ALL LF 1,200 \$70.00 \$84,000.00 \$96.00 \$115,200.00 \$77.00 \$92,400.00 \$90.00 \$10.00 \$4. 7 4' SCHEDULE 40 SERVICE LINE W/ CLEANOUT BY OPEN CUT EA 22 \$1,350.00 \$2,700.00 \$1,000.00 \$2,000.00 \$1,100.00 \$4,400.00 \$1,500.00 \$3. 8 4.0' DIAMETER SANITARY SEWER MANHOLE EA 7 \$4,000.00 \$2,000.00 \$4,500.00 \$1,000.00 \$2,000.00 \$1,000. | | o-19 offility Renabilitation 1 Tojects. Danny Lin, Epps Tield Rd, & E | Ollect of 4D | | | | | | | | | |
|---|------|---|--------------|--------------|-------------|--------------|--------------|--------------|---------------|--------------|-------------|--------------|
| Total Description Unit Bid Qty Unit Price Total Unit Un | | | | | SYB Constr | uction | Dowager Ut | ility | Camino | | Atkins | |
| SAMUCH S | | | | | Co., Inc. | | Construction | n, Ltd. | Construction, | LP | Bros. | |
| 1 SAWCUT FULL DEPTH, REMOVE AND DISPOSE EXISTING CONCRETE & ASPHALT 1 PAVEMENT 2 REMOVE AND DISPOSE EX. SANITARY SEWER MANHOLES 2 REMOVE AND DISPOSE EX. SANITARY SEWER MANHOLES 3 ABANDONED EX. SANITARY SEWER MANHOLES 4 CUT & PLUG EXIST. 8' SEWER MANHOLES 4 CUT & PLUG EXIST. 8' SEWER MANHOLES 5 REMOVE AND DISPOSE OF EX. 8' CLAY SANITARY SEWER PROPE 5 REMOVE AND DISPOSE OF EX. 8' CLAY SANITARY SEWER PROPE 6 LF 410 1.00 \$410.00 10.00 \$4,100.00 \$4,100.00 10.00 \$4,100.00 10.00 \$4,100. | Item | Description | Unit | Bid Qty | Unit Price | Total | Unit Price | Total | Unit Price | Total | Unit Price | Total |
| PAVEMENT | | EPPS FIELD RD SEWER MAIN REPLACEMENT | | | | | | | | | | |
| 3 ABANDONED EX. SANITARY SEWER MANHOLES EA 2 750.00 \$1,500.00 800.00 \$1,600.00 \$1,000.00 \$2,000.00 \$1,000.00 \$2,000.00 \$1,000.00 \$2,000.00 \$1,000.00 \$2,000.00 \$1,000.00 \$2,000.00 \$1,000.00 \$2,000.00 \$1,000.00 \$2,000.00 \$1,000.00 \$2,000.00 \$1,000.00 \$2,000.00 \$1,000.00 \$2,000. | 1 | | SY | 765 | \$9.00 | \$6,885.00 | \$8.00 | \$6,120.00 | \$10.00 | \$7,650.00 | \$20.00 | \$15,300.00 |
| 4 CUT & PLUG EXIST. 8" SEWER MAIN EA 9 250.00 \$2,250.00 800.00 \$7,200.00 300.00 \$2,700.00 500.00 \$4,400.00 10.00 \$4,100.00 10.00 \$4,100.00 10.00 \$4,100.00 10.00 \$4,100.00 10.00 \$4,100.00 10.00 \$4,100.00 10.00 \$4,100.00 10.00 \$4,100.00 10.00 \$4,100.00 10.00 \$4,100.00 10.00 \$4,100.00 10.00 \$4,100.00 10.00 \$4,100.00 10.00 \$4,100.00 10.00 \$4,100.00 10.00 \$4,100.00 10.00 \$4,100 | 2 | REMOVE AND DISPOSE EX. SANITARY SEWER MANHOLES | EA | 4 | 750.00 | \$3,000.00 | 1,000.00 | \$4,000.00 | 600.00 | \$2,400.00 | 2,000.00 | \$8,000.00 |
| 5 REMOVE AND DISPOSE OF EX. 8" CLAY SANITARY SEWER PIPE | 3 | ABANDONED EX. SANITARY SEWER MANHOLES | EA | 2 | 750.00 | \$1,500.00 | 800.00 | \$1,600.00 | 1,000.00 | \$2,000.00 | 1,000.00 | \$2,000.00 |
| 6 FURNISH & INSTALL 8" PVC SDR-26 SANITARY SEWER MAIN BY OPEN CUT, INCLUDING ALL LF 1,200 \$70.00 \$84,000.00 \$96.00 \$115,200.00 \$77.00 \$92,400.00 \$90.00 \$108, CONNECTIONS, FITTINGS, EMBEDMENTS & BACKFILL 7 4" SCHEDULE 40 SERVICE LINE W/ CLEANOUT BY OPEN CUT EA 22 \$1,350.00 \$29,700.00 \$1,000.00 \$22,000.00 \$1,100.00 \$24,200.00 \$1,500.00 \$33, 800.00 \$7,000.00 \$34, 400.00 \$30,800.00 \$7,000.00 \$44, 400.00 \$30,800.00 \$7,000.00 \$49, 90.00 \$10,000.00 \$10, | 4 | CUT & PLUG EXIST. 8" SEWER MAIN | EA | 9 | 250.00 | \$2,250.00 | 800.00 | \$7,200.00 | 300.00 | \$2,700.00 | 500.00 | \$4,500.00 |
| CONNECTIONS, FITTINGS, EMBEDMENTS & BACKFILL | 5 | REMOVE AND DISPOSE OF EX. 8" CLAY SANITARY SEWER PIPE | LF | 410 | 1.00 | \$410.00 | 10.00 | \$4,100.00 | 10.00 | \$4,100.00 | 10.00 | \$4,100.00 |
| 8 4.0 DIAMETER SANITARY SEWER MANHOLE EA 7 \$4,000.00 \$28,000.00 \$4,500.00 \$31,500.00 \$4,400.00 \$30,800.00 \$7,000.00 \$49, 9 TURF ESTABLISHMENT-SOLID SOD, INCLUDING 2" TOPSOIL SY 400 \$8.00 \$3,200.00 \$5.00 \$2,000.00 \$12.00 \$4,800.00 \$26.00 \$10, 10 TRAFFIC CONTROL PLAN & IMPLEMENTAION LS 1 \$2,000.00 \$2,000.00 \$2,000.00 \$3,500.00 \$3,500.00 \$1,500.00 | 6 | | LF | 1,200 | \$70.00 | \$84,000.00 | \$96.00 | \$115,200.00 | \$77.00 | \$92,400.00 | \$90.00 | \$108,000.00 |
| 9 TURF ESTABLISHMENT-SOLID SOD, INCLUDING 2" TOPSOIL SY 400 \$8.00 \$3,200.00 \$5.00 \$2,000.00 \$12.00 \$4,800.00 \$26.00 \$10, 10 TRAFFIC CONTROL PLAN & IMPLEMENTAION LS 1 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$3,500.00 \$3,500.00 \$1,500.00 \$1, 10 TRAFFIC CONTROL PLAN & IMPLEMENTAION LS 1 \$2,000.00 \$2,000.00 \$1,000.00 \$1,000.00 \$4,000.00 \$1,500.00 \$1, 10 TRAFFIC CONTROL PLAN & IMPLEMENTAION LS 1 \$2,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$4,000.00 \$1,500.00 \$1, 10 TRAFFIC CONTROL PLAN & IMPLEMENTAION LS 1 \$2,000.00 \$1, | 7 | 4" SCHEDULE 40 SERVICE LINE W/ CLEANOUT BY OPEN CUT | EA | 22 | \$1,350.00 | \$29,700.00 | \$1,000.00 | \$22,000.00 | \$1,100.00 | \$24,200.00 | \$1,500.00 | \$33,000.00 |
| 10 TRAFFIC CONTROL PLAN & IMPLEMENTAION LS 1 \$2,000.00 \$2,000.00 \$2,000.00 \$3,500.00 \$3,500.00 \$1,500.00 \$1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1 | 8 | 4.0' DIAMETER SANITARY SEWER MANHOLE | EA | 7 | \$4,000.00 | \$28,000.00 | \$4,500.00 | \$31,500.00 | \$4,400.00 | \$30,800.00 | \$7,000.00 | \$49,000.00 |
| 11 EROSION CONTROL PLAN & IMPLEMENTAION LS 1 \$2,000.00 \$1,000.00 \$1,000.00 \$4,000.00 \$4,000.00 \$1,500.00 \$1,000.00 \$1,000.00 \$4,000.00 \$1,000.00< | 9 | TURF ESTABLISHMENT-SOLID SOD, INCLUDING 2" TOPSOIL | SY | 400 | \$8.00 | \$3,200.00 | \$5.00 | \$2,000.00 | \$12.00 | \$4,800.00 | \$26.00 | \$10,400.00 |
| 12 TRENCH SAFETY DESIGN & IMPLEMENTATION LF 1,200 \$1.00 \$1,200.00 \$2.00 \$2,400.00 \$1.00 \$1,200.00 \$1. | 10 | TRAFFIC CONTROL PLAN & IMPLEMENTAION | LS | 1 | \$2,000.00 | \$2,000.00 | \$2,000.00 | \$2,000.00 | \$3,500.00 | \$3,500.00 | \$1,500.00 | \$1,500.00 |
| 13 FURNISH & INSTALL 12" CEMENT TREATED BASE PER DETAILS SY 765 \$42.00 \$32,130.00 \$20.00 \$15,300.00 \$74.00 \$56,610.00 \$26.00 \$19, UNFORSEEN ITEMS FOR SEWER REPLACEMENT, AS APPROVED BY THE CITY ENGINEER LS 1 \$10,000.00 | 11 | EROSION CONTROL PLAN & IMPLEMENTAION | LS | 1 | \$2,000.00 | \$2,000.00 | \$1,000.00 | \$1,000.00 | \$4,000.00 | \$4,000.00 | \$1,500.00 | \$1,500.00 |
| 14 UNFORSEEN ITEMS FOR SEWER REPLACEMENT, AS APPROVED BY THE CITY ENGINEER (REFER TO SPECIAL CONDITIONS ITEM #48) LS 1 \$10,000.00 \$10,000.00 \$10,000.00 \$10, | 12 | TRENCH SAFETY DESIGN & IMPLEMENTATION | LF | 1,200 | \$1.00 | \$1,200.00 | \$2.00 | \$2,400.00 | \$1.00 | \$1,200.00 | \$1.00 | \$1,200.00 |
| 14 (REFER TO SPECIAL CONDITIONS ITEM #48) LS 1 \$10,000.00 | 13 | FURNISH & INSTALL 12" CEMENT TREATED BASE PER DETAILS | SY | 765 | \$42.00 | \$32,130.00 | \$20.00 | \$15,300.00 | \$74.00 | \$56,610.00 | \$26.00 | \$19,890.00 |
| | 14 | | LS | 1 | \$10,000.00 | \$10,000.00 | \$10,000.00 | \$10,000.00 | \$10,000.00 | \$10,000.00 | \$10,000.00 | \$10,000.00 |
| FPPS FIFI D RD WATER & SEWER MAIN REPLACEMENT GRAND-TOTAL: \$318 506 00 \$365 000 00 \$388 270 00 \$410 6 | | EPPS FIELD RD SEWER MAIN REPLACEMENT TOTAL: | | \$206,275.00 | | \$224,420.00 | | \$246,360.00 | | \$268,390.00 | | |
| | | EPPS FIELD RD WATER & SEWER MAIN REPLACEMENT GRAND-TOTAL: | | \$318,506.00 | | \$365,000.00 | | \$388,270.00 | | \$410,650.00 | | |

BID NO.: 19-13

Bid Opens: 4/17/20198 2:00p.m.

Sheet 4 of 4B

| | | SYB Constr | uction | Dowager U | tility | Camino | | Atkins | | | |
|------|---|------------|----------------|------------|--------------|-------------------|--------------|--------------|--------------|-------------------|--------------|
| | | | | Co., Inc. | | Construction | on, Ltd. | Construction | ı, LP | Bros. | |
| Item | | Unit | Bid Qty | Unit Price | Total | Unit Price | Total | Unit Price | Total | Unit Price | Total |
| | LETA MAE LN WATER MAIN REPLACEMENT | | | | | | | | | | |
| 1 | SAWCUT FULL DEPTH, REMOVE AND DISPOSE EXISTING CONCRETE & ASPHALT PAVEMENT | SY | 840 | \$9.00 | \$7,560.00 | \$8.00 | \$6,720.00 | \$10.00 | \$8,400.00 | \$20.00 | \$16,800.00 |
| 2 | REMOVE AND SALVAGE EXISTING FIRE HYDRANT | EA | 1 | 250.00 | \$250.00 | 1,000.00 | \$1,000.00 | 250.00 | \$250.00 | 300.00 | \$300.00 |
| 3 | ABANDON EXIST. 6" F.H. VALVE | EA | 4 | 100.00 | \$400.00 | 500.00 | \$2,000.00 | 150.00 | \$600.00 | 100.00 | \$400.00 |
| 4 | CUT & PLUG EXIST. WATERLINE | EA | 4 | 750.00 | \$3,000.00 | 1,000.00 | \$4,000.00 | 750.00 | \$3,000.00 | 2,000.00 | \$8,000.00 |
| 5 | FURNISH & INSTALL 8" C-900 PVC WATER LINE BY OPEN CUT INCLUDING CONNECTIONS, FITTINGS, EMBEDMENT, BACKFILL, AND WATER LINE LOWERING AT THE STORM SEWERS | LF | 1,240 | 53.00 | \$65,720.00 | 82.00 | \$101,680.00 | 61.00 | \$75,640.00 | 75.00 | \$93,000.00 |
| 6 | CONNECTIONS TO EXIST. 6" WATERMAIN INCLUDING , 1- 8"X8" TEE, REDUCER,CAP AND OTHER FITTINGS AT FORD RD. | LS | 1 | \$2,850.00 | \$2,850.00 | \$5,000.00 | \$5,000.00 | \$2,500.00 | \$2,500.00 | \$4,000.00 | \$4,000.00 |
| 7 | CONNECTIONS TO EXIST. 8" WATERMAIN INCLUDING , 1- 8"X8" TEE, REDUCER,CAP AND OTHER FITTINGS AT TOM FIELD RD. | LS | 1 | \$4,500.00 | \$4,500.00 | \$6,000.00 | \$6,000.00 | \$2,500.00 | \$2,500.00 | \$4,500.00 | \$4,500.00 |
| 8 | FURNISH & INSTALL 8" GATE VALVE | EA | 9 | \$1,350.00 | \$12,150.00 | \$1,600.00 | \$14,400.00 | \$1,700.00 | \$15,300.00 | \$1,500.00 | \$13,500.00 |
| 9 | FURNISH & INSTALL 6" C-900 PVC FIRE HYDRANT LEAD INCLUDING CONNECTIONS | LF | 24 | \$52.00 | \$1,248.00 | \$50.00 | \$1,200.00 | \$120.00 | \$2,880.00 | \$150.00 | \$3,600.00 |
| 10 | FURNISH & INSTALL 6" GATE VALVE | EA | 4 | \$925.00 | \$3,700.00 | \$1,400.00 | \$5,600.00 | \$1,300.00 | \$5,200.00 | \$900.00 | \$3,600.00 |
| 11 | FURNISH & INSTALL 1" TYPE 'K' COPPER WATER SERVICE (LONG) AND CONNECT TO EXIST 3/4" AMR METER AND METER BOX | EA | 16 | \$1,025.00 | \$16,400.00 | \$1,400.00 | \$22,400.00 | \$1,100.00 | \$17,600.00 | \$1,200.00 | \$19,200.00 |
| 12 | FURNISH & INSTALL 1" TYPE 'K' COPPER WATER SERVICE (SHORT) AND CONNECT TO EXIS | EA | 18 | \$750.00 | \$13,500.00 | \$800.00 | \$14,400.00 | \$900.00 | \$16,200.00 | \$900.00 | \$16,200.00 |
| 13 | FURNISH & INSTALL NEW FIRE HYDRANT | EA | 4 | \$2,850.00 | \$11,400.00 | \$4,500.00 | \$18,000.00 | \$3,500.00 | \$14,000.00 | \$4,000.00 | \$16,000.00 |
| 14 | TRAFFIC CONTROL PLAN & IMPLEMENTATION (WATER) | LS | 1 | \$2,000.00 | \$2,000.00 | \$4,000.00 | \$4,000.00 | \$3,000.00 | \$3,000.00 | \$1,000.00 | \$1,000.00 |
| 15 | TRENCH SAFETY DESIGN & IMPLEMENTATION | LF | 1 | \$10.00 | \$10.00 | \$1.00 | \$1.00 | \$1.00 | \$1.00 | \$2,500.00 | \$2,500.00 |
| 16 | EROSION CONTROL PLANS & IMPLEMENTATION | LS | 1 | \$1,850.00 | \$1,850.00 | \$1,000.00 | \$1,000.00 | \$3,000.00 | \$3,000.00 | \$1,000.00 | \$1,000.00 |
| 17 | FURNISH & INSTALL SOLID SOD INCLUDING 2" TOP SOIL | SY | 400 | \$8.00 | \$3,200.00 | \$5.00 | \$2,000.00 | \$12.00 | \$4,800.00 | \$26.00 | \$10,400.00 |
| 18 | FURNISH & INSTALL 12" CEMENT TREATED BASE PER DETAILS | SY | 840 | \$42.00 | \$35,280.00 | \$20.00 | \$16,800.00 | \$52.00 | \$43,680.00 | \$20.00 | \$16,800.00 |
| 19 | UNFORSEEN ITEMS FOR WATER REPLACEMENT, AS APPROVED BY THE CITY ENGINEER (REFER TO SPECIAL CONDITIONS ITEM #48) | | | | \$15,000.00 | \$15,000.00 | \$15,000.00 | \$15,000.00 | \$15,000.00 | \$15,000.00 | \$15,000.00 |
| | LETA MAE LN WATER MAIN REPLACEMENT TOTAL: | | | | \$200,018.00 | | \$241,201.00 | | \$233,551.00 | | \$245,800.00 |
| | | | | | | | | | | | |
| | GRAND-TOTAL AMOUNT BASE-BID FOR DANNY WATER, EPPS FIELD WATER & SEWER, & LETA MAE WATER: | | \$714,077.00 | *3 | \$841,691.00 | | \$853,957.00 | | \$894,980.00 | | |

*3 Submitted bid is \$1 lower due to bidder's math error